Diamond Creation Craft Center
U-CC91TBW

Drawing, Art, Hobby, Craft Table, with 6 Drawer Tower

PARTS LIST = Table Components O = Fasteners and Tools
[A] [o] [E]
QTY: 1 QTY: 2 arv:1 / QTY: 1 QTY: 1
24°x40” Top Upper Base End Foot Bar Cross Support Top Support
QTY: 1 QTY: 4 QTY: 4 QTy: 2
= =) @ ’
|E
o
Pencil Ledge Top L-Bracket Floor Glides Cross Support End Caps
QTY: 1 QTY: 4 QTY: 8 Qry: 2
Footbar Spacers 6x55mm Bolt 6x28mm Bolt 5x14mm Screw 4x12mm Screw
QTY: 4 QTY: 2 QTY: 1 2 QTY: 1 QTY: 1 2
Nuts 6x65mm Bolt Wrench 12mm Allen Wrench Wrench 10mm

Phillips Head screwdriver

NOT INCLUDED

IMPORTANT
If you have difficulty assembling your table, or need customer service
assistance, please call: Martin Universal Design, Inc. customer service
hotline at 1-313-895-0700, or email at custservmud@gmail.com. If
you need additional parts, it is not necessary to contact your dealer. Our
Customer Service Representative will forward them to you immediately.

MARTIN

MARTIN UNIVERSAL DESIGN, INC

4444 | awton Street, Detroit, Ml 48208 USA

TEL: 313-895-0700 FAX: 313-895-0709
www.MartinUniversaldesign.com
Email: custservmud@gmail.com




e

A). See Fig 1 - Attach upper base ends (Part ) together with cross support (Part |E|)
using 2 ea. cross support end caps (Part (J)) and 4 ea. 6x55mm bolts (Part ).

B). See Fig 2 - Attach top support (Part[E]) to the upper base ends using 2 ea. 6x55mm
bolt (Part ©)).

C). See Fig 3 - Attach Foot bar (Part [C]) to the upper base ends using 2 ea. foot bar

spacers (Part ®) and 2 ea. 6x65mm Bolts (Part @). Note: Do not overtighten base
assembly.

D). Attach Floor Glides (Part[1]) to the bottom of the base using wrench (Part ®).



A). Place table top (Part |A|) with predrilled holes face up in designated area.

B). Attach tilt mechanism (Part[G]) to the back end of the table top using 4 ea. 5x14mm
screws ( Part N) ).

A). Place assembled base upside down on the table top (Make sure to line up predrilled hole).

B). Attach top L-bracket (Part [H]) to the base by inserting upper end into the holes in the
upper base arms. Note: If predrilled holes do not line up, loosen base assembly in Step 1.



Step 4

Front View

A). Attach tilt mechanism to the top support bar (Part [E]) using 4 ea. 6x28mm bolts (Part
M) and 4 ea. nuts (Part (P)) using wrench (Part (T)).

Step 5

A). Attach pencil edge (Part [F]) to the table top using 2 ea. 4x12mm screws (Part @).



TILT ADJUSTMENT:

To adjust the tilt of your table top, grab the back edge of the table top and lift
the top with [2] hands to the maximum tilt and then back down to your desired
position. NOTE: You must lift the table top all the way up before lowering it to the
desired tilt level.

NOTE: If the top does not seem to move smoothly - this means you are NOT
holding the top balanced with both hands. Make sure your hands are positioned
evenly. This will make the adjustments easier.

In order to lower the table top, life it all the way up to its maximum height which
allows the tilt mechanisms to release from their locked position. To avoid damaging
the table top, DO NOT attempt to lower the table top by forcefully pushing down
on the top when its in a locked position.



Mobile Drawer Taboret Instructions

@ QTY: 1
ANNNNNNN

Left Drawer Frame

QTY: 1
LS

Right Drawer Frame

|§| QTY: 4

\

Drawer Support Bar

IEI QTY: 1

L7

Drawer Top

|E QTY: 6
‘:J

Drawer

IE QTY: 6

Drawer Bottom

@ QTY: 8
m

6x45mm Bolts

@QTY: 4

i

4x25mm Screws

QTY: 4
2 Locking / 2 Non-locking

;

Castors

@ QTy: 1
—=

Wrench

@ QTY: 1
=)

Allen Wrench

Step 1

Attach left frame ( Part) and right frame ( Part) using 4
ea. support bar ( Part) with 8 ea. 6x45mm bolts ( Part ).
Attach casters ( Part|I|) to the bottom of the cabinet using
wrench ( Part@). Make sure two locking casters are in the

front of the cabinet.

Step 3

Unfold 6 ea. drawer bottoms ( Part)
Place draw bottoms ( Part ) into drawers.
Slide drawers into assembled cabinet.

Step 2

Attach drawer top ( Part@ ) to the op of the cabinet

using 4 ea. 4x20mm screws ( Part ).




